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Note: (a) All questions are compulsory. & ’4:% v‘% i
(b) The candidate is allowed to make suitable numeric assumptions whe%%g?"%é%uired
Jor solving problems. g w
fﬂa— % -:-zi:
Q.No. Question &7 1 CO | Marks
Ql a) Evaluate the impact of Balanced Polymorphism on hum%q%iﬁ?gs v 3
giving at least one example. . "%& &
b) Distinguish between Crossing over and Transp,ﬁggfﬁ"%m@stify with 2
the help of an example and diagram. wh B ”
¢) Examine the impact of monosomy in humasis b&gﬂﬁg an example. 2
Q2 a) Identify genotypes and phenotypes of ghe following by making a | I 3
Fork Line Diagram — AABb x AaBb LY ‘5"‘-&,.#}%, *
b) Calculate the frequency of hg{s"wﬁ gdtes in a population if 2
. . P
frequency of recessive allele is 0.2%s, *, o,
c) Assess the probability of (2 i I‘T’egji?ildren out of 04 if a couple is 2
suffering from an autosomal fQGgé‘sg?‘éiédisorder.
Q3 a) Identify the ethical issugs.in"Getietics and elaborate your points. VI 3

b) Discuss Luria Delpruk “Fluttuation Test with an example and
necessary illustrations, %, %
c) Evaluate the aﬁ%%g{of seﬁfual reproduction on variations.

£,

Q4 |a) Frequegé‘iﬁ%f?p Zllele is 0.3 and q is 0.7, Genetic fitness of | L1l
homozygotssdgniinant individuals (W11) is 1.5 and for heterozygotes
(W12 isdllso#l.5 , where as for homozygous recessive individuals
gpnétif’:"xt,jtﬁaﬁfs (W22) is 1.0. Assess the frequency of p and q after one
| #&neratiofi. Discuss your results in light of Fischer’s theorem.

"’-«.:’b,), gw does a person have 47 chromosomes? Justify your answer 2
0y | W an example,

%
Q5 ™, paf Arabidopsis and Drosophila are model organisms for study in Vv 3
# Genetics. Justify these giving appropriate reasons.
b) Differentiate between Polygenic inheritance and Pleiotropism by 2
giving at least one example,
¢) Evaluate Darwin’s Revolution in light of Origin of Species. 2
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